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Fit to catalogue 
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For 40 Monte Carlo samples 
in the catalogue uncertainties 

S_fit_i = χ𝟐 test between 
 log(MFD model) and log(MFD catalog i)  

S2 = average of S_fit_i 

Fit to paleo 
S3 

For each site 

Modelled 
participation rate 

Paleo earthquake rate with 
uncertainties represented as a 

2D Gaussian distribution 

S_fit_i =  maximum value of the crossing between 
the participation rate and the 2D Gaussian 

S3 = average of S_fit_i 

Weight of the branch =
S1 x S2 x S3 x S4

 branches of the logic tree
 


